HOME Cupcake Large © Jane Eborall 2014
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Click here

Materials required:- Size 20 thread and size 11 seed beads.

Note - for those who prefer front side/back side tatting the text in italics and red indicates

where the worker needs to use the second half of the ds first.
MB move bead along core thread.
Abbreviations

R ring Ch chain

Cl close DNRW Do not reverse work
SLT Shoe lace trick vsp Very small picot

+B Add bead to picot before joining B bead

RoCh Ring on chain SS Switch shuttles

RW Reverse work

Base - 1 shuttle and ball thread - 1 %2 yards on shuttle.
R1: 3 -3 vsp 2 CI DNRW SLT
Ch: 6 vsp 6 SLT RW
Ch: 1 vsp 6Lj(vsp last Ch) vsp 6 RW
R2: 2+ (vspR1) 2 -2 vsp 2 Cl SLT DNRW
Ch: 6 Lj (vsp last Ch) vsp 6 Lj (vsp last Ch) SLT RW
Ch: 1vsp 6 Lj(vsplast Ch) vsp 6 RW
R3: 2+ (vsp R2) 4 vsp 2 Cl SLT DNRW
Ch: 6 Lj (vsp last Ch) vsp 6 Lj (vsp last Ch) SLT RW
Ch: 1 vsp 6 Lj(vsp last Ch) vsp 6 RW
R4: 2+ (vspR3) 2 -2 vsp 2 Cl SLT DNRW
Ch: 6 Lj (vsp last Ch) vsp 6 Lj (vsp last Ch) SLT RW
Ch: 1 vsp 6Lj(vsp last Ch) vsp 6 RW
R5: 2
6
1

<S

+ (vsp R4) 4 vsp 2 CI SLT DNRW

Ch: Lj (vsp last Ch) vsp 6 Lj (vsp last Ch) SLT RW
Ch: vsp 6 Lj (vsp last Ch) vsp 6 RW

R6: 2+ (vsp R5) 2 - 2 vsp 2 Cl SLT DNRW

Ch: 6 Lj (vsp last Ch) vsp 6 Lj (vsp last Ch) SLT RW
Ch: 7 Lj(vsp last Ch) 6 RW

R7: 2+ (vspR6)3-3CIT&C

Top - 2 shuttles — 1 Y4 yards on Sh1l & 1 34 yards on Sh2. Add 5 beads to Sh1 and 10 to Sh2.
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R8: 3+ B (R7of base) 3 -3 -3CIRW
Ch: 3B3B3RW
R9: 3+B(R8)3-3-3CIRW
Ch: 3B3B3B3SS
3 beads at back of hand
RoCh10: 8BBBMBS8vsp4-2-4ClSS
Ch: 4 RWSS
SCMR11: 3+ B (last p R9) 3 SS
R: 3+B(nextpR9)3+B(R8)3+B
(R6 of base) 3 CI SS
SCMR11: 3 -3 ClI SLT RW
Ch: 1+ B (ponROCh)1RW
R12: 3 + B (p on SCMR11) 6 + B (R4 on base) 6 - 3 CI
RW
Ch: 1 + B (nextp ROCh) 1 RW SS
SCMR13: 3+ B (R12) 3SS
R: 3+B(R2onbase)3-3-3CISS
SCMR13: 3-3CISSRW
Ch: 4 + (vsp ROCh10) 3B3 B3B3 RW
R14: 3 + B (SCMR13) 3 + B (next p SCMR13) 3 - 3 CIRW
Ch: 3B3B3RW
R15: 3+ B(R14)3 +B(SCMR13)3+ B (Rl1onbase)3CIT&C

Please email me for further help if needed.
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